Math 152 - Spring 2013 - Quiz #2 Score: out of 10.
Name: I S(

SOLVE ONE OF THE FOLLOWING:

Please indicate which problem you do NOT want me to grade by putting a GIANT X
through it, otherwise I will grade the first side worked on:

r Show all work clearly and in order. Please box your answers. 10 minutes. J

1. Tt takes 3 Joules of work to stretch a spring from its natural length to 14 meters beyond its natural

length. What is the force (in Newtons) that holds the spring stretched at the same distance 14
meters?
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